

Republic of the Philippines

BULACAN AGRICULTURAL STATE COLLEGE

Pinaod, San Ildefonso, Bulacan 3010

Document No.: BASC-PRO-QSF-01

Rev. No.: 00

Effectivity Date: 06/03/2019

JOB ORDER

Job Order No. 2023-06-129A Date: 06/29/2023 Time Duration: June 30, July 10 - 14, 2023. L. RAMIREZ FOOD SERVICES For completion within _ (working/calendar day) from receipt Firm/Supplier/Dealer/Contractor SAN ILDEFONSO, BULACAN of this order the articles at the prices Address indicated below duly approved by the Committee on Award on ___ Office/Department/Site Address/Location Other terms:__

Performance bond is required in the amount of P _

(To be fortified for non-deliver	y/compliance)
----------------------------------	---------------

Item No.	Particulars/Nature of Job	Quantity	Cost	Total Cost
	Food, Meals, Snacks and Catering Services for Council Meeting and Other Graduation Activities 2023.			-
1	Academic Council meeting Foods (June 30, 2023). Carbonara, Chicken Barbeque, Ham & Cheese Sandwich, Pineapple- in-can, Bottled water.	80	200.00	16,000.00
2	General Practice (July 10, 2023) Am Snacks	40	150.00	6,000.00
3	Spaghetti & Fried Chicken, Coke mismo and Bottled water Lunch	50	150.00	7,500.00
4	Caldaretang Baboy, Chopsuey, rice, banana, water Pm Snacks Pansit Guisado & Lumpiang Shanghai, Royal Mismo and bottled water	40	150.00	6,000.00 - -
	General Practice (July 11, 2023)			
5	Am Snacks	40	150.00	6,000.00
6	Pesto Pasta & Chicken Barbeque, coke, bottled water Lunch	50	150.00	7,500.00
7	Menudo, kare-kare, rice banana, bottled water Pm Snacks Seafood Pasta & Lumpiang Sariwa Royal and water	40	150.00	6,000.00
	Moving Up (July 12, 2023)			-
8	Am Snacks Ham & Cheese, Pineapple in can and Bottled water	40	150.00	6,000.00
9	Pica Pica Fresh Fruits, candy, sweets, bottled water	10	250.00	2,500.00
10	Pineapple in can Lunch Beef Mushroom, Chicken Fillet, Pork Morcon, Rice, Banana, Bottled Water	50	250.00	12,500.00
11	Hooding Ceremony (July 12, 2023) Am Snacks Clubhouse Sandwich, Pineapple- in can, water	40	150.00	- - 6,000.00
12	Pica pica Fresh Fruits, candy, sweets, bottled water Pineapple in can	10	250.00	2,500.00
13	Recognition (July 12, 2023) Pm Snacks Tuna Pasta , Garlic Bread, Pineapple in can Bottled water	40	150.00	6,000.00 -
14	pica pica	10	250.00	2,500.00
15	resh Fruits, candy, sweets, bottled water Pineapple in car Dinner Beef Teriyaki, Pork Hamonado, Grilled Chicken, Pineapple in can Bottled water Fresh Fruits	50	240.00	12,000.00



Republic of the Philippines

BULACAN AGRICULTURAL STATE COLLEGE

Pinaod, San Ildefonso, Bulacan 3010

Document No.:
BASC-PRO-QSF-01

Rev. No.: 00

Effectivity Date: 06/03/2019

JOB ORDER

L. RAMIREZ FOOD SERVICES	
Firm/Supplier/Dealer/Contractor	
SAN ILDEFONSO, BULACAN	
Address	
 Office/Department/Site	

Job Order No. 2023-06-129A

Address/Location

Date:	06/29/2023	

Time Duration: June 30, July 10 - 14, 2023. For completion within _____

(working/calendar day) from receipt of this order the articles at the prices indicated below duly approved by the Committee on Award on _____

Other	terms:		

Performance bond is required in the amount of P _____(To be fortified for non-delivery/compliance)

Item No.	Particulars/Nature of Job	Quantity	Cost	Total Cost
16	Baccalaureate Mass (July 12, 2023) Pm Snacks Ensaymada, Bottled Water	1200	20.00	24,000.00
17	Graduation Ceremony (July 13, 2023) Breakfast Loaf Bread, Hotdog, Egg, Butter, Coffee, Bottled water Rice Daing na bangus, Salted Egg, Tomatoe	40	240.00	9,600.00 - -
. 18	Am Snacks	40	150.00	6,000.00
19	Bacon and Cheese Sandwich, Pineapple in can, water Pica Pica Fresh Fruits, sandy Sweets bettled water Bineapple	10	250.00	2,500.00
20	Fresh Fruits, candy, Sweets bottled water, Pineapple Lunch Beef Lengua Asado, Orange Chicken, Baby Back Ribs Rice, Pineapple in Can, Bottled water, Fresh Fruits	50	240.00	12,000.00 - -
21	Pm Snacks Clubhouse sandwich, Potato Chips, Juice, Bottled water Quesong Puti Empanadita	40	150.00	6,000.00 - -
22	Pica Pica Fresh Fruits, Candy, Sweets, Bottled water, Pineapple in can, Bulacan Products	10	250.00	2,500.00 - -
23	Dinner Roasted Beef, Steamed Fish, Crispy Pinakbet, Steamed Crab, Sinigang na hipon, rice, water, Chicken Inasal, Juice, Vegetable Salad, Native delicacies	100	350.00	35,000.00 - - -
24	Graduation Ceremony (July 14, 2023) Breakfast Ham, Longganisa, Egg, Rice, Pritong Saging, Bottled watert and Coffee	40	200.00	8,000.00 -
25	Am Snacks Chicken Sandwich, Baked Mac, Pineapple in can,	40	150.00	6,000.00
26	Bottled water Pica Pica Fresh Fruits, Candy, sweets, bottled water Pineapple	10	250.00	2,500.00
27	Lunch Chicken Teriyaki, Buttered Shrimp, Pork with Mushroom rice , water, juice	50	240.00	12,000.00
28	Pm Snacks Special Ensaymada, Seafood Pasta,	40	150.00	6,000.00
29	Pineapple in can, Bottled water Pica Pica Fresh Fruits, Candy, Sweets, Bottled water, Pineapple	10	250.00	2,500.00



Republic of the Philippines

BULACAN AGRICULTURAL STATE COLLEGE

Pinaod, San Ildefonso, Bulacan 3010

Document No. BASC-PRO-QSF-01

Rev. No.: 00

Effectivity Date: 06/03/2019

JOB ORDER

lob	Order	No.	2023-06-129A

L. RAMIREZ FOOD SERVICES Firm/Supplier/Dealer/Contractor SAN ILDEFONSO, BULACAN Address

Office/Department/Site

Address/Location

Date: 06/29/2023

Time Duration: June 30, July 10 - 14, 2023.

For completion within

(working/calendar day) from receipt of this order the articles at the prices indicated below duly approved by the Committee on Award on

Other terms:

AMESON H. TAN, CESE

This is an important paper and will cause great inconvenience

ms for payment from the

SUG President III

Performance bond is required in the amount of P

(To be fortified	for non-delivery/compliance)	,		
Item No.	Particulars/Nature of Job	Quantity	Cost	Total Cost
30	Dinner	50	240.00	12,000.00
	Beef Caldareta, Crispy Kare-Kare, Chicken Cordon Blue,			-
	Rice, Water, Juice, Fresh Fruits			-
				_
	Flower Arrangement			-
31	Recognition, Moving up, and Hooding Ceremony	1	10,000.00	10,000.00
32	Graduation Ceremony (IM, led and CA)	1	15,000.00	15,000.00
33	Graduation Ceremony (DRT Campus)	1	10,000.00	10,000.00
34	Graduation Ceremony (IEAT)	1	10,000.00	10,000.00
	Rentals Recognition, Moving Up, and Hooding Ceremony			-
35	Chair	500	7.00	3,500.00
36	Long Table	4	720.00	2,880.00
37	Tiffany Chair	20	100.00	2,000.00
38	Long Carpet	1	1,500.00	1,500.00
39	Seat Cover	800	7.00	5,600.00
	Graduation Ceremony (IM, led, and CA)]
40	Chair	700	7.00	4,900.00
41	Long Table	4	70.00	280.00
42	Tiffany Chair	60	100.00	6,000.00
43	Long Carpet	1	1,500.00	1,500.00
44	Seat Cover	1100	7.00	7,700.00
45	Entrance Arc and Arrangement	1	5,000.00	5,000.00
	Graduation Ceremony (DRT Campus)			-
46	Chair	170	7.00	1,190.00
47	Long Table	2	70.00	140.00
48	Tiffany Chair	10	100.00	1,000.00
49	Long Carpet	1	1,500.00	1,500.00
50	Seat Cover	170	7.00	1,190.00
	Graduation Ceremony (IEAT)			-
51	Chair	200	7.00	1,400.00
52	Long Table	4	70.00	280.00
53	Tiffany Chair	25	100.00	2,500.00
54	Long Carpet	1	1,500.00	1,500.00
55	Seat Cover	460	7.00	3,220.00
56	Entrance Arc and Arrangement	1	5,000.00	5,000.00
			Total	353,780.00
			TOTAL	353,780.00

Funds available:

Payment to be made by this Office

MA. DOLORES G. BERSAMINA

Accountant III

Received Job Order and held myself bound by terms, conditions and stipulations of the contract and other applicable rules/laws.

L. RAMIREZ FOOD SERVICES

(Firm/Supplier/Dealer/Contractor)

(Authorized Representative)

COMMISSION ON AUDIGENT shall be supported by this form to be attached to the voucher.

if lost.

RECEIVED

(Date Received)

JUL 19 2023

SIGNATURE:

COMMISSION ON AUDIT RECEIVED

SIGNATURE